

# ROMANIAN MATHEMATICAL MAGAZINE

If  $x, y, z > 1, m, n, p \geq 1$  then:

$$(x-1)^{m+n+p} + x^{m+n} + x^{n+p} + x^{p+m} + 1 \leq x^{m+n+p} + x^m + x^n + x^p$$

*Proposed by Daniel Sitaru – Romania*

*Solution by Ravi Prakash-New Delhi-India*

We first show that

$$x^m + 1 \leq (x+1)^m \quad \forall x > 0, m \geq 1$$

$$\text{Let } f(x) = x^m + 1 - (x+1)^m, x \geq 0 \Rightarrow f'(x) = mx^{m-1} - m(x+1)^{m-1} \leq 0, x > 0$$

$$\Rightarrow f(x) \text{ decreases on } [0, \infty)$$

$$\text{Thus, } f(x) \leq f(0) \quad \forall x > 0 \Rightarrow x^m + 1 - (x+1)^m \leq 0; \forall x > 0$$

$$\Rightarrow (x-1)^m + 1 \leq x^m; \forall x > 1 \Rightarrow (x-1)^m \leq x^m - 1; \forall x > 1, m \geq 1$$

Thus, for  $x > 1, m, n, p \geq 1$

$$(x-1)^m(x-1)^n(x-1)^p \leq (x^m - 1)(x^n - 1)(x^p - 1)$$

$$\Rightarrow (x-1)^{m+n+p} \leq x^{m+n+p} - x^{m+n} - x^{m+p} - x^{n+p} + x^m + x^n + x^p - 1$$

$$\Rightarrow (x-1)^{m+n+p} + x^{m+n} + x^{m+p} + x^{n+p} + 1 \leq x^{m+n+p} + x^m + x^n + x^p$$